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| | | — AIR A ElyH A 1,500,000 ~1CH 1,500

HHSHHH(ASHBSER) 393,608 452,298 A58,690

Jl=23Hl 19,640 20,840 A 1,200

Jl2HHI(MSAEER) 19,640 20,840 A 1,200

201 Bt A | 2,940 2,940 0

01 AR 22l ] 2,940 2,940 0
OJl2+=8gtl 1,140
(OPIE=T=2=3:] 1,800

202 044l 6,000 6,000 0

01 2L Y| 6,000 6,000 0
OJle0 ] 6,000

203 ¥R =&Y 4,700 4,700 0

01 J|2A2H L RE=XH| 3,300 3,300 0
ONESHE22E 3,300
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(OESEEPNPIPSESE:] 40,000& *5H 200

04 ENSHLRF=XH| 1,200 1,200 0
OAKESHEER 100,000& *12& 1,200

204 &R = A H| 6,000 7,200 A 1,200

01 XS RHFH| 6,000 7,200 A 1,200
ONEMNE22E 400,000& x1H x12& 4,800
ONEAMBAHE 100,000 x1H «12& 1,200
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OGP F=y=] 5,308
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O9IIE &bl 4,498

02 JIEA 2 %= 80,464 75,790 4,674
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